ONE WAY TO “SOLVE” POSITION, VELOCITY AND ACCELERATION VERSUS TIME PLOTS

v vs. t value(s) avs.t
Valtue(s)
Y
s vs. t slope(s) vV vs. t
Slope(s)

An Example of vvs. t-->avs.tandvvs. t-->svs. t:
fwd (v+);

slow dn

1. Divide the plot into regions of "different" motion.

2. Determine the direction of the motion in each region 0
(fwd/v+, bkwd/v-) and if the object is speeding up,
slowing down or moving at a constant speed.

3. Determine the slope of the plot in each region.

4, avstplot : Useslope of vvs. t(Av/At = a) to
determine the sign of the acceleration in each region.
CHECK: Is the sign of "a" consistent with the direction
of a "shove" that is required to produce that motion?
(Moving fwd/slowing down requires a "backwards"
(negative) shove!)

t

acceleration is (=)
throughout as slope of v
vs. tis (=) throughout

o

S A2 (fwd from A1)

5. s vs. t plot -

A. Set the position (s value) at the beginning and end 0 y ° t
Al (So =0)

of each interval (Pts. A1, A2, A3) so that As (fwd/+, (50=0) ; A3 (bkwd

bkwd/-) is consistent with the direction of motion from A2)
indicated on the v vs. t plot.

B. Sketch "slope tangents" (B1, B2, B3) at each point
that represents the sign of the velocity (As/At = v).

C. Draw a smooth curve that reflects the correct
transitions from one "slope tangent" to the next.
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